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m2 6, 250 21.72 135, 750
FEIAE 14. 5km% 8 Z.17. 5kmPL
(R Livf7) B

m2 1, 250 27.53 34,412
FECA 6. 5kmPd
(B#ri-55) B

m2 6, 300 24. 69 155, 547
FECA 6. 5kmZ& # 2 11. 5kmLA
(5 - 72 10 - L) BN

m2 6, 250 25.63 160, 187

= 1 176, 894

BAERA I L

= 1 176, 894
W A A
B TEZEXS3A

] 2 10, 978 21, 956
W A A
B TEZEX 5B

] 1 11, 296 11, 296
W A A
K VEEXSC

] 8 12, 241 97,928
W A A
& VXD

] 2 11, 296 22, 592
HRERS I (k) [E12%
=N

km 108 214.1 23,122
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NAWA

i

£

TRy - T - A% - A5 H LFENAL B G EHAm & E (GRS
INS VUL
= 1 36, 588, 135
LA LB T
= 1 1,734, 528
g sl 100m2LL T/ f& T
SR
T 15 21, 238 318, 570
g sl 100m2LL T/ f& T
K[
T 5 31, 126 155, 630
B _EfkiE R AL B 100m2LL T/ f& T
SR
T 20 21, 238 424, 760
g 100m2LL T/ f& T
SR
T 30 21, 238 637, 140
E OfIELIESE
= 1 198, 428
& T LB T
= 1 5, 198, 970
% a2 20 LLF /1]
]
7t 360 9, 742 3,507, 120
AN S 204 LLF /1]
K[
7t 40 14, 250 570, 000
B SERZ AL 204 LLF /1]
]
7t 90 9, 742 876, 780
B SERZ AL 204 LLF /1]
K[
7t 10 14, 250 142, 500
O IELIESE
= 1 102, 570
B EREREL
= 1 668, 327
-9 - Ehzzmd  HPEHT R




NAWA

i

£

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
ANt AR A 35K LA R /TE
B
e 50 2, 670 133, 500
) Ei1EN 35K LA R /TE
B
e 50 2, 670 133, 500
G B L AR B A T 35K LA R /T
=N
e 5 2,670 13, 350
TR B 1 A R R AR i 35K LA R /T
B
e 5 2,670 13, 350
TR B RS 35K LA R /T
B
e 100 2, 670 267, 000
E OfIELIESE
= 1 107, 627
FoE B R AR S T
= 1 246, 521
TR B R E O B A L0 LA /|
=N
] 10 16, 113 161, 130
O IELIESE
= 1 85, 391
TH  Jite % b A L T
= 1 28, 739, 789
TSI S LB
= 1 745, 063
bV LR
= 1 193, 593
RRWT A ERG S L
= 1 193, 593
& T LB
= 1 5,515, 086
- 10 - Ehzzmd  HPEHT R




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
& OAth e RR b AL
= 1 22, 092, 454
SKFEIEX S L
= 1 8, 869, 168
JRBSLERERE T
= 1 8, 869, 168
I AL ER
= 1 8, 869, 168
HEE
= 1 50, 397
B AR 2
= 1 18, 317
Bh A S (0 =1 V=) Gr-A-4E
=N
m 10 1,221 12,210
BHFERT (REWT - 57885 (LA s | 220 -1 akA
=N
m 10 610.7 6, 107
JE AT R T
= 1 32, 080
TR AR = FAESA  10AR
B
ZN 10 1,087 10, 870
HURR Sy BEAT A 2 EMIEN I ST
=N
ZN 10 2,121 21, 210
G an
= 1 15, 699, 499
RmE T
= 1 15, 699, 499
B TR
= 1 96, 711, 598
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
I L
= 1 10, 827, 491
B3 TS
= 1 2,344, 714
TR
= 1 129, 050
R R R 26
= 1 129, 050
BGmEsET (K30
= 1 2,215, 664
HIBGERE (FE L)
= 1 8,482, 777
Wi
= 1 107, 539, 089
B
= 1 43, 876, 150
TG
= 1 151, 415, 239
— R
= 1 24, 274, 761
TS
= 1 175, 690, 000
THEBLFH Y %H
= 1 17, 569, 000
TH#&G
= 1 193, 259, 000
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